INTERNATIONAL INDIAN SCHOOL BURAIDAH

SUBJECT :COMPULSORY ARABIC WORKSHEET

CLASS: 4
English meanings :
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2 . Read the following sentences and choose the correct answer:
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3 English translation:
Ayt (3 wl.l

Aiwyde b cads .3
AS el Ll 0dn (§ S - 4
8l 9 djf&:llp:d.).w‘)’\u_.oq -5
SVl Cals adl Sy -6
B8 digde 0l -7
257 Wl = J))l -8
Y oyl aslug Wgll — 9
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4. Arabic meanings :

1- Eggs ..... 2 —-School ..... 3-When? ...... 4-He....

5. Rearrange the words to form a sentence:
dde G3f ¢ sl
el ¢ s ¢ dlepob=2
Cads ¢ Jl ¢ dablb ¢ duyadi—3
6 . Make sentence :

Page 2 of 3



................................... 43,6 — 2
................................. s — 3
.................................. D awdl -4
................................... dude -5
.................................... Zé)\;‘.w -6
..................................... @yl -7
7- Write the plural of the given word:
................. < 5_)\_.3..» -1
................ 4 d)p-2
.................. < J>-3
.................. 4uy9-4
8 — Arrang the following letters to form words of the given meaning
(Spring) «.eeveveeneenns <d@«.§u| -1
(Umbrella) ..ccoeveenneenn <48 b Je-2
(Cage) -weeovveeen 4JIdFpe-3
(Behind)............ 4 S J-4
(Clothes)........... 4\ wdo e—5
(Room) e 43 &JQ—G
(Therain) ...... <4, b Jel-7
Kitchen) ........... <ldg_;'c‘lo{=—8
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